1-sinx 1-sinx
| o= [ o
1+sinx 1+S|nx1 sin x 1-sin“x
1- smx 1 sin X
= = dx — dx
I cos? x J. cos’® X I cos® x
=jsec xdx—jsecxtanxdx:tanx—secx+C
7/4 1 %
_[ —— dx =tan x —sec X —2-2
0 1+sinx 0

71 23]

2020 =2 x5x1010|22 F2QI9| LtHX| H2|0| 2|sHA
Loy = oy x Lo X Loy

o|m,
U (2020) =U (4)xU (5) xU (101) = C, xC, xC,,
olct,
U (2020) 0l A Ql%=7 309] 240l ek
(30,2)(30,4)(30,100) = 2-2-10 = 40
olct,

71 23]

1 1+u? | 1
- 2

G=1+u?0|22 K=-— -
J1+u?  du

20208t = CHH|

A ZO|TA} 1
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Ak
ra
I->1

2 X(u,v) el mM17|2d A0
| =ds? = du? + Gdv?

o, SHS B p=x(u,v) 0N 7t2AFES
1 VG
JG ou?

ojct.
4SUSE MEY [4E]
4SUSE MEY [4E]

Med 43
f7b x=00IM @&0|22 Ve>0, 36>0, |x|<|x-0/<5 0l
[f(x)|=]f(x)-0|<e
O|ck. |x—y|<SOI¥ y=x+t, x=y-t, [f<s0l2
f(y)-f(x)=f(x+t)—f(x)
<f)+fER)-f(X)=f(t)<e
fO)-f(y)=f(y-t)-1(y)
< f(y)+ f(-t)-f( f
olct matM |f(x)-f(y)|<eoln f& BSAKEO0lC)

Med 4]
(0= xo)dt—| tg) dt=x| g(t)dt—[ tg(t)dton,
gt) et tg(t) & Aseso0/22 0™ 7|2H2|of o5t

f'(x)= _[g(t)dt+xg(x) xg(X) = J' g(t) dt
O|C}. D|MEsto| 7|2H™E|E CtA| HE5IH
f'0)=g(x) d&et=
olzz feC?0lLC}

MEd [4E)

Y IK <G, |[K|=7°x11°, K#HOH HNKE He Ko ZIRgF0|22
|HNK|<7*x17°0|2 7°x11° 2] o=

ojct. matA |H nK|<72x11°0|Ck.

st HK = G o #2022 |HK|<|G|olx,

|H||K| |H||K| 7P x183x7*x11

| | |G| 6x7°x113

2 a0t HE 97t 7°x11°Q Qs 227002 Y220\t

> 77 x11°

IHNK|=
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10. Mg 48]

11.

w, e f(D)OI® Jz,eD, w, = f(z,)=limf (z,)0l2z

Ve>0. INeN, n>NOJH |w,—f (z,)] <& olct
f (z,)e f(D)cDol22 w,eDolct. & f(D)c D=DuwaDo|LCt.
siMsts f 7t A7t otL|2tH dalgsolct

et f(D)= 280, f(D)cDOoIEEZ EXel = f(D)z Dol 20|t

—_

< y
Liouville®| M2|: SH ™tz

2. =

3. 252 Do f(z,)=4=% 2 s =¥ z,eD =X
4. A|th™ohzrel ®al: 3z, D, [f(z,)]=max{|f(2)|:ze D}

5. Z|AFOHZtel Fal: 3z, €D, |f(z,)|=min{|f(z)]:zeD}>0

6. FEAYEE: fU)7 SETHOl ot g2ldet U D EX

Med 48]

AeV = OEdE0 2z X3l 7Hs5tLt
= A=PDP'g xstc izt Dt Magd Pt Zxjsict,
Of mf CHtWH Do tHAd22 nqat 4, i=12,...,n0[1,
2 FMEO 92 G
D?o| tjztMdEee A%, i=12,...,nolCk

A? = PDP'PDP ' =PD?P 0|22
tr A2 =tr(PD2P-1)=tr(PP-1DZ)=tr(PP-1)tr(D2)=tr(D2)
=X+ A ++22=0
oict. & BE 4 =00/1 A=00|C}

etk V ={0}2 M,o Xyt 2L£B70/1, dimV =00|c}

n
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ArZHES| ol MMEXM= 2z G o HBX|[Eel MAMEH0[1,
S W &b G of HACHaAl
P(x) = x(x=1)(x—2)(x* =5x +7)
O|Ct.
v HE B
1. 4STSE 7| 2F)

2. 7199 2F]

b 6 az—-6
fO)=—=—=0|B2 f(2)=
© d 5 (2) cz+5

5
5 a(—sj—G 5 az—6
f[_gj:T:oomEi C(__j+5:0:> F@)=—=
C(—3j+5 3 3z+5

—a- 47— 4 6
8-0__jojm2 f(y)=_2 6<—>A={3 5}

3+5 3z+5

1 202 1 2] [-10 -18 ~10z-
e 2 0 _ o () -102-18
-1 -1 | 9 17 9z +17

Yoz GL(2,C)/al 1t 5HO|Lt.
o 2tb  szame {a b}
cz+d

S+ NSE MeY [4E)
4 2UDKE MY U]
+SNSE MEY [4E)
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6. -| '64 [47t-|]
f 2 [0,x]oIAM &

3, (0,x)0flM DjE7tsstEz o delof ofshA

' cos+/C+4n°z?
0= 1,00-1,0)= 1, @0 = 25 CL

£ UESt= ce(0,x) 7k EXHHCE

‘cos\/c+4n27z2 X
f.(X)| = X< -0
N Sy N ST

S49 f,2 f()=022 MU+t
2

—

=2 a, +2n7r o Chstof

=528 R = 97 59 &2z R = a) O[22 =7 2¢ age
=} —1#£10]/H 230|282 —1=10|1 charR =20|LC}.

@ Z,[X1>R, ¢(9(x))=9(a)
8%t 7Z,[x] = FolH Melolzz kerp=(f(x))olch
p(x*—1)=a°-1=00]22 x*-lekerpo|n
kerpol M9 f(X)& x°—1=(X-D(x*+x*+x*+x+1) 2| =o0|LC},
p(x-1)=a-1£00/22 x-lgkerpoln
kergo=<x5—1> L kergo=<x4+x3+x2+x+l>
O|C}. H1sgAteEelol 2lsiM
Ime = Z,[x]/ker ¢
EZZ[X]/<X—1>><Z2[X]/<X4+X3+X2+X+1>
Te 2[x]/(x“+x3+x2+x+1>

olct 2tM & R Q5:7h 2x2* =& 20 BESg Zt0
-1=15

[

OfLf.
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10.

11.

Med 43
343=7°0|22

xel, Xt =x* =1
o|C}. 171x2=3420|22 X" 1eZ7[X]“ F, Ol =3HE Lt
F, >L=>7,022 SiHQ| Kt [L:Z7]¢1% []F73 :Z7]:39l oF=0|Lt,
et L=F, Ol Galois?& 9147} [Gal(L/Z,)|=|F,:Z, |=32
=22 Gal(L/Z,)=7Z,0lct

Ned @)
p7t X =Ru{p}el DAMO| ofL|atE p=
SUE 49 a2 B MS n
49 3,0l po p7t o 44 £ Ho=

pe X2 ngF™olCt

Med (48]

a'xa"=TxxkN=xBO0|1

o +a"=T+(kN)=T+(-"T+x'N+xrB) = (1-x*)T+x'N+xcB
0|22 k=1, r=10lct

f (X)= j f(x,

y) dy
olct. X =0.50] &t Yo =R EUCT

fyx (y|0'5) -1 (

OI_Tl_I

Y 2 _ @05
E(V[x =08)=]"y f,, (vlos)dy= [ Fem dy=—
O|Ct.
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